Konan Charles Etienne Goli; Assohoun Adjé Existence of solutions for a coupled system with ϕ -Laplacian operators and nonlinear coupled boundary conditions

Communications in Mathematics, Vol. 25 (2017), No. 2, 79-87

Persistent URL: http://dml.cz/dmlcz/147058

Terms of use:

© University of Ostrava, 2017

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ*: *The Czech Digital Mathematics Library* http://dml.cz

Existence of solutions for a coupled system with $\phi\text{-Laplacian}$ operators and nonlinear coupled boundary conditions

Konan Charles Etienne Goli, Assohoun Adjé

Abstract. We study the existence of solutions of the system

$$\begin{cases} (\phi_1(u_1'(t)))' = f_1(t, u_1(t), u_2(t), u_1'(t), u_2'(t)), & \text{a.e. } t \in [0, T], \\ (\phi_2(u_2'(t)))' = f_2(t, u_1(t), u_2(t), u_1'(t), u_2'(t)), & \text{a.e. } t \in [0, T], \end{cases}$$

submitted to nonlinear coupled boundary conditions on [0,T] where $\phi_1, \phi_2: (-a, a) \to \mathbb{R}$, with $0 < a < +\infty$, are two increasing homeomorphisms such that $\phi_1(0) = \phi_2(0) = 0$, and $f_i: [0,T] \times \mathbb{R}^4 \to \mathbb{R}$, $i \in \{1,2\}$ are two L^1 -Carathéodory functions. Using some new conditions and Schauder fixed point Theorem, we obtain solvability result.

1 Introduction

The aim of this paper is to study the existence of solutions for the quasilinear system of differential equations

$$\begin{cases} (\phi_1(u_1'(t)))' = f_1(t, u_1(t), u_2(t), u_1'(t), u_2'(t)), & \text{a.e. } t \in [0, T], \\ (\phi_2(u_2'(t)))' = f_2(t, u_1(t), u_2(t), u_1'(t), u_2'(t)), & \text{a.e. } t \in [0, T], \end{cases}$$
(1)

under nonlinear coupled boundary conditions

$$\begin{cases} g(u_1(0), u_2(0), u'_1(0), u'_2(0), u'_1(T), u'_2(T)) = (0, 0) \\ (u_1(T), u_2(T)) = h(u_1(0), u_2(0)), \end{cases}$$
(2)

where $g: \mathbb{R}^6 \to \mathbb{R}^2$ and $h: \mathbb{R}^2 \to \mathbb{R}^2$ are two continuous functions, $f_i: [0,T] \times \mathbb{R}^4 \to \mathbb{R}$, $i \in \{1,2\}$ are two L^1 -Carathéodory functions, and $\phi_1, \phi_2: (-a, a) \to \mathbb{R}$, with $0 < a < +\infty$, are two increasing homeomorphisms such that $\phi_1(0) = \phi_2(0) = 0$.

²⁰¹⁰ MSC: 34B15

Key words: ϕ -Laplacian; L^1 -Carathéodory function; Schauder fixed-point Theorem.

DOI: 10.1515/cm-2017-0008

The study of system (1)–(2) was justified by the applications of the nonlinear differential equations with singular ϕ -Laplacian operator to the areas of mechanics and physics (see [4], [5]).

In 2015, Naseer Ahmad Asif and Imran Talib studied in [1], problem (1)–(2), for f_i , $i \in \{1, 2\}$ continuous and $\phi_1(x) = \phi_2(x) = x$, $\forall x \in \mathbb{R}$. They proved under some monotony conditions upon g and h, an existence result using a new concept of coupled lower and upper solutions.

The concept of coupled lower and upper solutions was used by several authors (see [2], [6], [7], [8]).

In our study, we use some new conditions given only on the boundary conditions. These new conditions allow us to construct two coupled of ordered functions which do not check necessarily the definitions of lower and upper solutions, but which makes it possible to obtain a solution located between them. In addition monotonicity of g and h are not required.

After introducing notations and preliminaries in section 2, we prove in section 3, existence of solutions of the problem (1)-(2) using a new conditions.

In section 4, we give an example of application of this new result.

2 Notations and preliminaries

We denote:

- $\langle \cdot, \cdot \rangle$ the usual inner product in \mathbb{R}^2
- $\|\cdot\|$, the Euclidian norm of \mathbb{R}^2
- $\{e_1, e_2\}$ the canonical basis of \mathbb{R}^2
- $(x,y), (a,b) \in \mathbb{R}^2, (x,y) \le (a,b)$ if $x \le a$ and $y \le b$
- $(x,y), (a,b) \in \mathbb{R}^2, (x,y) \ge (a,b)$ if $x \ge a$ and $y \ge b$
- C = C([0,T]), the Banach space of continuous functions on [0,T]
- $||u||_C = ||u||_{\infty} = \max\{|u(t)|; t \in [0, T]\}$, the norm of C
- $C^1 = C^1([0,T])$, the Banach space of continuous functions on [0,T] having continuous first derivative on [0,T]
- $||u||_{C^1} = ||u||_C + ||u'||_C$, the norm of C^1
- $||(u_1, u_2)||_{C^1 \times C^1} = ||u_1||_{C^1} + ||u_2||_{C^1}$, the norm of $C^1 \times C^1$
- AC = AC([0,T]), the set of absolutely continuous functions on [0,T]
- $L^1 = L^1(0,T)$, the Banach space of functions Lebesgue integrable on [0,T]
- $||\cdot||_{L^1}$, the norm of L^1
- B_r , the corresponding open ball of $C^1 \times C^1$ of center 0 and radius r
- For $u = (u_1, u_2) \in C \times C$, $\forall t \in [0, T]$, $\int_0^t u(s) ds = \left(\int_0^t u_1(s) ds, \int_0^t u_2(s) ds\right)$

Definition 1. $(u_1, u_2) \in C^1 \times C^1$ is a solution of problem (1)–(2) if $||u_1'||_{\infty} < a$, $||u_2'||_{\infty} < a$, $(\phi_1 \circ u_1', \phi_2 \circ u_2') \in AC \times AC$ and satisfies (1)–(2).

Definition 2. $f:[0,T] \times \mathbb{R}^4 \to \mathbb{R}$ is L^1 -Carathéodory if:

- 1. $f(\cdot, x_1, x_2, y_1, y_2) : [0, T] \to \mathbb{R}$ is measurable for all $(x_1, x_2, y_1, y_2) \in \mathbb{R}^4$;
- 2. $f(t, \cdot, \cdot, \cdot, \cdot) : \mathbb{R}^4 \to \mathbb{R}$ is continuous for a.e. $t \in [0, T]$;
- 3. For each compact set $A \subset \mathbb{R}^4$ there is a function $\mu_A \in L^1$ such that

$$|f(t, x_1, x_2, y_1, y_2)| \le \mu_A(t)$$

for a.e. $t \in [0, T]$ and all $(x_1, x_2, y_1, y_2) \in A$.

3 Existence result

Theorem 1. Assume that there exist $(\alpha_1, \alpha_2), (\beta_1, \beta_2) \in C \times C$ such that

$$\alpha_i(0) < \beta_i(0), \text{ and } \alpha_i(T) < \beta_i(T), \quad \forall i \in \{1, 2\},$$

 $\max\{|\beta_i(T) - \alpha_i(0)|; |\alpha_i(T) - \beta_i(0)|\} < aT, \quad \forall i \in \{1, 2\}.$

$$\begin{split} g(\alpha_1(0),t,w,x,y,z) &\geq (0,0), \quad \forall (t,w,x,y,z) \in [\alpha_2(0),\beta_2(0)] \times [-a,a]^4, \\ g(t,\alpha_2(0),w,x,y,z) &\geq (0,0), \quad \forall (t,w,x,y,z) \in [\alpha_1(0),\beta_1(0)] \times [-a,a]^4, \\ g(\beta_1(0),t,w,x,y,z) &\leq (0,0), \quad \forall (t,w,x,y,z) \in [\alpha_2(0),\beta_2(0)] \times [-a,a]^4, \\ g(t,\beta_2(0),w,x,y,z) &\leq (0,0), \quad \forall (t,w,x,y,z) \in [\alpha_1(0),\beta_1(0)] \times [-a,a]^4, \\ (\alpha_1(T),\alpha_2(T)) - h(x,y) &\leq (0,0), \quad \forall (x,y) \in [\alpha_1(0),\beta_1(0)] \times [\alpha_2(0),\beta_2(0)] \end{split}$$

and

$$(\beta_1(T), \beta_2(T)) - h(x, y) \ge (0, 0) \quad \forall (x, y) \in [\alpha_1(0), \beta_1(0)] \times [\alpha_2(0), \beta_2(0)].$$

Then the problem (1)–(2) admits at least one solution (u_1, u_2) , with

$$\alpha_i(0) - at \le u_i(t) \le \beta_i(0) + at, \quad \forall t \in [0, T] \quad \text{for each} \quad i \in \{1, 2\}.$$

Consider the functions $\gamma_i : [0, T] \times \mathbb{R} \to \mathbb{R}, i \in \{1, 2\}$, given by

$$\gamma_i(t,x) = \max\{\alpha_i(0) - at, \min\{x, \beta_i(0) + at\}\}.$$

Let us define the functions $\vartheta_i, \theta_i \colon \mathbb{R} \to \mathbb{R} \ i \in \{1, 2\}$ by

$$\vartheta_i(x) = \max \big\{ \alpha_i(0), \min\{x, \beta_i(0)\} \big\} \quad \text{and} \quad \theta_i(x) = \max \big\{ \alpha_i(T), \min\{x, \beta_i(T)\} \big\}$$

Consider $\delta \colon \mathbb{R} \to \mathbb{R}$ and $F \colon C^1 \times C^1 \to L^1 \times L^1$ defined by

$$\delta(x) = \max\{-a, \min\{x, a\}\}$$

and $\forall (u_1, u_2) \in C^1 \times C^1$ and a.e. $t \in [0, T]$,

$$F(u_1, u_2)(t) = \left(f_1(t, \gamma_1(t, u_1(t)), \gamma_2(t, u_2(t)), \delta(u_1'(t)), \delta(u_2'(t))), \\ f_2(t, \gamma_1(t, u_1(t)), \gamma_2(t, u_2(t)), \delta(u_1'(t)), \delta(u_2'(t))) \right)$$

Let $\mathcal{A}, \mathcal{B}: C^1 \times C^1 \to \mathbb{R}^2$ given by

$$\mathcal{A}(u_1, u_2) = \left(\vartheta_1 \Big(u_1(0) + \big\langle g \big(u_1(0), u_2(0), u_1'(0), u_2'(0), u_1'(T), u_2'(T) \big), e_1 \big\rangle \Big), \\ \vartheta_2 \Big(u_2(0) + \big\langle g \big(u_1(0), u_2(0), u_1'(0), u_2'(0), u_1'(T), u_2'(T) \big), e_2 \big\rangle \Big) \right)$$

and

$$\mathcal{B}(u_1, u_2) = \left(\theta_1 \left(\frac{1}{2}u_1(T) + \frac{1}{2} \langle h(u_1(0), u_2(0)), e_1 \rangle \right), \\ \theta_2 \left(\frac{1}{2}u_2(T) + \frac{1}{2} \langle h(u_1(0), u_2(0)), e_2 \rangle \right) \right).$$

 \mathcal{A} and \mathcal{B} are bounded and continuous in $C^1 \times C^1$.

Let ϕ defined from $(-a, a) \times (-a, a)$ onto $\mathbb{R} \times \mathbb{R}$ by

$$\phi(x_1, x_2) = (\phi_1(x_1), \phi_2(x_2)).$$

 ϕ is an homeomorphism from $(-a,a)\times (-a,a)$ onto $\mathbb{R}\times \mathbb{R}$ and

$$\forall (y_1, y_2) \in \mathbb{R}^2, \quad \phi^{-1}(y_1, y_2) = (\phi_1^{-1}(y_1), \phi_2^{-1}(y_2)).$$

With the previous notations, we consider the modified problem

$$\begin{cases} (\phi(u_1'(t), u_2'(t)))' = F(u_1, u_2)(t), & \text{a.e. } t \in [0, T], \\ (u_1(0), u_2(0)) = \mathcal{A}(u_1, u_2), \\ (u_1(T), u_2(T)) = \mathcal{B}(u_1, u_2). \end{cases}$$

$$(3)$$

A solution of problem (3) is a couple of functions $(u_1, u_2) \in C^1 \times C^1$ such that $\|u'_1\|_{\infty} < a, \|u'_2\|_{\infty} < a, (\phi_1 \circ u'_1, \phi_2 \circ u'_2) \in AC \times AC$, and satisfies (3).

Lemma 1. For each $(k,q) \in C \times (-aT, aT)$, $\forall i \in \{1,2\}$, there exists a unique $b_i = \Sigma_{\phi_i}(k,q)$ such that

$$\int_0^T \phi_i^{-1}(k(t) - b_i) \, \mathrm{d}t = q.$$

Moreover, the function $\Sigma_{\phi_i} : C \times (-aT, aT) \to \mathbb{R}$ is continuous, and, for each fixed $q \in (-aT, aT), \Sigma_{\phi_i}(\cdot, q)$ takes bounded sets of C into bounded sets of \mathbb{R} .

Proof. See [3] proof of Lemma 1.

Lemma 2. For every $(v_1, v_2) \in C^1 \times C^1$ there exists a unique $(\tau_{v_1}, \tau_{v_2}) \in \mathbb{R} \times \mathbb{R}$ such that

$$\int_0^T \left(\phi^{-1} \left[(\tau_{v_1}, \tau_{v_2}) + \int_0^t F(v_1, v_2)(s) \, \mathrm{d}s \right] \right) \mathrm{d}t = \mathcal{B}(v_1, v_2) - \mathcal{A}(v_1, v_2).$$

Proof. It is an easy consequence of Lemma 1. In fact, $\forall i \in \{1, 2\}$, let

$$k_i(t) = \int_0^t \langle F(v_1, v_2)(s), e_i \rangle \,\mathrm{d}s$$

and $q_i = \langle \mathcal{B}(v_1, v_2) - \mathcal{A}(v_1, v_2), e_i \rangle$. We have, $\forall i \in \{1, 2\}, k_i \in C$ and

$$|q_i| \le |\langle \mathcal{B}(v_1, v_2) - \mathcal{A}(v_1, v_2), e_i \rangle| \le \max\{|\beta_i(T) - \alpha_i(0)|; |\alpha_i(T) - \beta_i(0)|\} < aT.$$

By Lemma (1), we get the existence of (τ_{v_1}, τ_{v_2}) .

Lemma 3. Any solution (u_1, u_2) of (3) is such that $\alpha_i(0) - at < u_i(t) < \beta_i(0) + at$, $\forall t \in [0, T]$ and for each $i \in \{1, 2\}$.

Proof. Let (u_1, u_2) be a solution of (3). By definition of the boundary conditions, we have

$$\alpha_i(0) \le u_i(0) \le \beta_i(0) \quad \text{and} \quad \alpha_i(T) \le u_i(T) \le \beta_i(T) \quad \forall i \in \{1, 2\}.$$
(4)

As $||u_1'||_{\infty} < a$ and $||u_2'||_{\infty} < a$, we have

$$u_i(0) - at < u_i(t) < u_i(0) + at, \ \forall t \in [0,T] \text{ and for each } i \in \{1,2\}.$$
 (5)

Therefore, by (4) and (5), we have $\alpha_i(0) - at \leq u_i(t) \leq \beta_i(0) + at$, $\forall t \in [0, T]$ and for each $i \in \{1, 2\}$.

Lemma 4. If (u_1, u_2) is a solution of (3) then

$$g(u_1(0), u_2(0), u_1'(0), u_2'(0), u_1'(T), u_2'(T)) = (0, 0)$$

and

$$(u_1(T), u_2(T)) - h(u_1(0), u_2(0)) = (0, 0).$$

Proof. Let (u_1, u_2) be a solution of problem (3). Step 1: $(u_1(T), u_2(T)) - h(u_1(0), u_2(0)) = (0, 0)$. Suppose that for some $j \in \{1, 2\}$,

$$\beta_j(T) < \frac{1}{2}u_j(T) + \frac{1}{2}\langle h(u_1(0), u_2(0)), e_j \rangle.$$

Then

$$u_j(T) = \theta_j \left(\frac{1}{2} u_j(T) + \frac{1}{2} \left\langle h(u_1(0), u_2(0)), e_j \right\rangle \right) = \beta_j(T).$$
(6)

 \square

Therefore we obtain the contradiction

$$0 = \beta_j(T) - u_j(T)$$

$$< \frac{1}{2} \langle h(u_1(0), u_2(0)), e_j \rangle + \frac{1}{2} u_j(T) - u_j(T)$$

$$\leq \frac{1}{2} \langle h(u_1(0), u_2(0)), e_j \rangle - \frac{1}{2} \beta_j(T) \leq 0.$$

It follows that

$$\left(\beta_1(T), \beta_2(T)\right) \ge \frac{1}{2} \left(u_1(T), u_2(T)\right) + \frac{1}{2} h\left(u_1(0), u_2(0)\right).$$
(7)

Suppose that for some $j \in \{1, 2\}$,

$$\alpha_j(T) > \frac{1}{2}u_j(T) + \frac{1}{2}\langle h(u_1(0), u_2(0)), e_j \rangle.$$

Then

$$u_j(T) = \theta_j \left(\frac{1}{2} u_j(T) + \frac{1}{2} \left\langle h(u_1(0), u_2(0)), e_j \right\rangle \right) = \alpha_j(T).$$

Therefore we obtain the contradiction

$$0 = \alpha_j(T) - u_j(T)$$

> $\frac{1}{2} \langle h(u_1(0), u_2(0)), e_j \rangle + \frac{1}{2} u_j(T) - u_j(T)$
> $\frac{1}{2} \langle h(u_1(0), u_2(0)), e_j \rangle - \frac{1}{2} \alpha_j(T) \ge 0.$

It follows that

$$\left(\alpha_1(T), \alpha_2(T)\right) \le \frac{1}{2} \left(u_1(T), u_2(T)\right) + \frac{1}{2} h\left(u_1(0), u_2(0)\right).$$
(8)

(7) and (8) show that

$$(u_1(T), u_2(T)) = \frac{1}{2} (u_1(T), u_2(T)) + \frac{1}{2} h (u_1(0), u_2(0))$$

 $\begin{array}{l} \text{Therefore } \left(u_1(T), u_2(T)\right) - h \big(u_1(0), u_2(0)\big) = (0,0).\\ \text{Step 2: } g(u_1(0), u_2(0), u_1'(0), u_2'(0), u_1'(T), u_2'(T)) = (0,0).\\ \text{Suppose that for some } j \in \{1,2\}, \end{array}$

$$\beta_j(0) < u_j(0) + \left\langle g(u_1(0), u_2(0), u_1'(0), u_2'(0), u_1'(T), u_2'(T)), e_j \right\rangle.$$

Then

$$u_j(0) = \vartheta_j \Big(u_j(0) + \Big\langle g \Big(u_1(0), u_2(0), u_1'(0), u_2'(0), u_1'(T), u_2'(T) \Big), e_j \Big\rangle \Big) = \beta_j(0).$$

Therefore we obtain the contradiction

$$0 = \beta_1(0) - u_1(0) < \left\langle g\big(\beta_1(0), u_2(0), u_1'(0), u_2'(0), u_1'(T), u_2'(T)\big), e_1 \right\rangle \le 0.$$

or

$$0 = \beta_2(0) - u_2(0) < \left\langle g(u_1(0), \beta_2(0), u_1'(0), u_2'(0), u_1'(T), u_2'(T)), e_2 \right\rangle \le 0$$

It follows that

$$(\beta_1(0), \beta_2(0)) \ge (u_1(0), u_2(0)) + g(u_1(0), u_2(0), u_1'(0), u_2'(0), u_1'(T), u_2'(T)).$$
(9)

Suppose that for some $j \in \{1, 2\}$,

$$\alpha_j(0) > u_j(0) + \left\langle g\big(u_1(0), u_2(0), u_1'(0), u_2'(0), u_1'(T), u_2'(T)\big), e_j \right\rangle.$$

Then

$$u_j(0) = \vartheta_j \Big(u_j(0) + \left\langle g \big(u_1(0), u_2(0), u_1'(0), u_2'(0), u_1'(T), u_2'(T) \big), e_j \right\rangle \Big) = \alpha_j(0).$$
(10)

Therefore we obtain the contradiction

$$0 = \alpha_1(0) - u_1(0) > \left\langle g(\alpha_1(0), u_2(0), u_1'(0), u_2'(0), u_1'(T), u_2'(T)), e_1 \right\rangle \ge 0.$$

or

$$0 = \alpha_2(0) - u_2(0) > \left\langle g(u_1(0), \alpha_2(0), u_1'(0), u_2'(0), u_1'(T), u_2'(T)), e_2 \right\rangle \ge 0.$$

It follows that

$$(\alpha_1(0), \alpha_2(0)) \le (u_1(0), u_2(0)) + g(u_1(0), u_2(0), u_1'(0), u_2'(0), u_1'(T), u_2'(T)).$$
 (11)
(9) and (11) show that

$$(u_1(0), u_2(0)) = (u_1(0), u_2(0)) + g(u_1(0), u_2(0), u_1'(0), u_2'(0), u_1'(T), u_2'(T)).$$

Therefore

$$g(u_1(0), u_2(0), u'_1(0), u'_2(0), u'_1(T), u'_2(T)) = (0, 0).$$

Proof. [Proof of Theorem 1] Let $\Theta: C^1 \times C^1 \to C^1 \times C^1$ defined by

$$\Theta(u_1, u_2)(t) = \mathcal{A}(u_1, u_2) + \int_0^t \phi^{-1} \Big[(\tau_{u_1}, \tau_{u_2}) + \int_0^s F(u_1, u_2)(x) \, \mathrm{d}x \Big] \, \mathrm{d}s, \quad \forall t \in [0, T] \,,$$

where (τ_{u_1}, τ_{u_2}) is the value associated to (u_1, u_2) in Lemma 2. We can see that problem (3) is equivalent to the fixed point problem $(u_1, u_2) = \Theta(u_1, u_2)$.

Using Lemma 1, Lemma 2 and Arzelá-Ascoli's Theorem, we can see that Θ is completely continuous. Moreover, for all (u_1, u_2) in $C^1 \times C^1$, we have

$$\|\Theta(u_1, u_2)\|_{C^1 \times C^1} < \max\{\|\alpha_1\|_{\infty}, \|\beta_1\|_{\infty}\} + \max\{\|\alpha_2\|_{\infty}, \|\beta_2\|_{\infty}\} + 2a(1+T).$$

By a straightforward application of Schauder fixed point Theorem and the properties of the degree, Θ has a fixed point (U_1, U_2) on \overline{B}_{μ} with

$$\mu > \max\{\|\alpha_1\|_{\infty}, \|\beta_1\|_{\infty}\} + \max\{\|\alpha_2\|_{\infty}, \|\beta_2\|_{\infty}\} + 2a(1+T).$$

Consequently (U_1, U_2) is a solution of (3). Therefore, using Lemmas 3 and 4, (U_1, U_2) is also a solution of problem (1)–(2).

Remark 1. The approach used in this paper can be:

- generalized to n equations $n \ge 3$;
- used when we have only one equation.

4 Example

Consider the system

$$\begin{cases} \left(\frac{u_1'(t)}{\sqrt{1-(u_1'(t))^2}}\right)' = \frac{\max\{0, u_1(t)\}}{\sqrt{t}} + \left(u_2(t)\right)^2 + \frac{-|u_1'(t)|}{2\sqrt{t}} - \sqrt{t} & \text{for a.e. } t \in [0, 1]; \\ \left(\frac{u_2'(t)}{\sqrt{1-|u_2'(t)|}}\right)' = \left(u_1(t)\right)^3 + \frac{u_2(t)}{\sqrt{t}} + \sin\left(u_1'(t)\right) - e^{u_2'(t)} & \text{for a.e. } t \in [0, 1]; \\ \left(u_1(0)u_2(0)\left(u_1'(0) + u_2'(0) + u_1'(1) + u_2'(1) - 4\right), \\ u_1(0)u_2(0)\left(u_1'(0) - u_2'(0) - u_1'(1) + u_2'(1) - 4\right)\right) = (0, 0); \\ \left(u_1(1), u_2(1)\right) = \left(u_1(0), u_2(0)\right). \end{cases}$$
(12)

We have $a = 1, T = 1, \phi_1(x) = \frac{x}{\sqrt{1-(x)^2}}, \phi_2(x) = \frac{x}{\sqrt{1-|x|}},$

$$\begin{split} f_1(t, x_1, x_2, y_1, y_2) &= \frac{\max\{0, x_1\}}{\sqrt{t}} + (x_2)^2 + \frac{-|y_1|}{2\sqrt{t}} - \sqrt{t} \,, \\ f_2(t, x_1, x_2, y_1, y_2) &= (x_1)^3 + \frac{x_2}{\sqrt{t}} + \sin(y_1) - e^{y_2} \,, \\ g(u, v, w, x, y, z) &= \left(uv(w + x + y + z - 4), uv(w - x - y + z - 4)\right) \end{split}$$

and

$$h(x,y) = (x,y)\,,$$

where $f_i: [0,1] \times \mathbb{R}^4 \to \mathbb{R}$, $i \in \{1,2\}$ are two L^1 -Carathéodory functions and $g: \mathbb{R}^6 \to \mathbb{R}^2$ and $h: \mathbb{R}^2 \to \mathbb{R}^2$ are two continuous functions. Taking

$$\alpha_1(t) = \alpha_2(t) = 0 \text{ and } \beta_1(t) = \beta_2(t) = \frac{1}{2}, \ \forall t \in [0, 1],$$

we have

$$\begin{aligned} (\alpha_1, \alpha_2), (\beta_1, \beta_2) &\in C \times C, \\ \alpha_i(0) < \beta_i(0) \text{ and } \alpha_i(T) < \beta_i(T), \quad \forall i \in \{1, 2\}, \\ \max\{|\beta_i(T) - \alpha_i(0)|; |\alpha_i(T) - \beta_i(0)|\} &= \frac{1}{2} < 1 = aT, \quad \forall i \in \{1, 2\}, \\ g(\alpha_1(0), t, w, x, y, z) &= (0, 0), \quad \forall (t, w, x, y, z) \in [\alpha_2(0), \beta_2(0)] \times [-a, a]^4, \\ g(t, \alpha_2(0), w, x, y, z) &= (0, 0), \quad \forall (t, w, x, y, z) \in [\alpha_1(0), \beta_1(0)] \times [-a, a]^4, \\ g(\beta_1(0), t, w, x, y, z) &\leq (0, 0), \quad \forall (t, w, x, y, z) \in [\alpha_2(0), \beta_2(0)] \times [-a, a]^4, \end{aligned}$$

$$g(t,\beta_2(0),w,x,y,z) \le (0,0), \quad \forall (t,w,x,y,z) \in [\alpha_1(0),\beta_1(0)] \times [-a,a]^4, (\alpha_1(T),\alpha_2(T)) - h(x,y) \le (0,0), \quad \forall (x,y) \in [\alpha_1(0),\beta_1(0)] \times [\alpha_2(0),\beta_2(0)]$$

and

$$(\beta_1(T), \beta_2(T)) - h(x, y) \ge (0, 0), \quad \forall (x, y) \in [\alpha_1(0), \beta_1(0)] \times [\alpha_2(0), \beta_2(0)].$$

By Theorem 1, we deduce existence of at least one solution of the system (12).

References

- N. A. Asif, I. Talib: Existence of Solutions to a Second Order Coupled System with Nonlinear Coupled Boundary Conditions. American Journal of Applied Mathematics, Special Issue: Proceedings of the 1st UMT National Conference on Pure and Applied Mathematics (1st UNCPAM 2015) 3 (3-1) (2015) 54–59.
- [2] N. A. Asif, I. Talib, C. Tunc: Existence of solution for first-order coupled system with nonlinear coupled boundary conditions. Boundary Value Problems 2015 (1) (2015) 134.
- [3] C. Bereanu, J. Mawhin: Nonhomogeneous boundary value problems for some nonlinear equations with singular *φ*-Laplacian. J. Math. Anal. Appl. 352 (2009) 218–233.
- [4] P.G. Bergmann: Introduction to the Theory of Relativity. Dover Publications, New York (1976).
- [5] H. Brezis, J. Mawhin: Periodic solutions of the forced relativistic pendulum. Differential Integral Equations 23 (2010) 801–810.
- [6] D. Franco, D. O'Regan: Existence of solutions to second order problems with nonlinear boundary conditions. In: Proceedings of the Fourth International Conference on Dynamical Systems and Differential Equations. (2002) 273–280.
- [7] D. Franco, D. O'Regan: A new upper and lower solutions approach for second order problems with nonlinear boundary conditions. Arch. Inequal. Appl. 1 (2003) 423–430.
- [8] D. Franco, D. O'Regan, J. Perán: Fourth-order problems with nonlinear boundary conditions. Journal of Computational and Applied Mathematics 174 (2005) 315–327.

Authors' address

UFR MATHÉMATIQUES ET INFORMATIQUE, UNIVERSITÉ FÉLIX HOUPHOUET BOIGNY DE CÔTE D'IVOIRE, 22 BP 582 ABIDJAN 22

E-mail: golietienne@gmail.com, assohoun.adje@univ-fhb.edu.ci

Received: 24 April, 2016 Accepted for publication: 26 April, 2017 Communicated by: Geoff Prince